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1. Overall Description:

RAN2 received the LS R2-1707619 on Single UL transmission (denoted as 1Tx operation in this LS) from RAN1 and has discussed the implications.

RAN2 would also point out that 2Tx UE is assumed to be the baseline UE capability needed for LTE-LTE DC and LTE-NR DC, and the decision to support Single UL UE does not change this fact. RAN2 assumption is that a UE supports 2Tx operation if, at least one LTE-NR band combination is supported, no matter if it is problematic or not. Tthe 1Tx operation for DC-capable UEs would apply to only few specific problematic LTE-NR band combinations, which are decided by RAN4. RAN2 had initial discussion on only the UE capability signalling to support single UL transmission for LTE-NR DC case but without conclusion so far. 
RAN2 would like RAN4 to provide information to understand how the 1Tx operation could affect the UE capability signalling design or other corresponding signalling. Hence, RAN2 would like to receive answers to the following questions:
1) Is a UE capability for the need of 1Tx operation required (i.e. indication that UE is incapable of 2Tx operation under certain conditions)?

2) Does need of 1Tx operation apply to all UEs? For example, for a problematic band combination which is applicable for 1Tx operation, would the operation apply for all UEs or only certain UEs with certain implementations? 

3) If the UE capability signalling is needed, with what granularity it should be provided (e.g., per band or per band combination)?
4) Is any kind of additional information needed from UE for the network to be able to schedule UE under the 1Tx operation?
2. Actions:
To: 3GPP TSG RAN WG4 group.

ACTION: 
RAN2 respectfully requests RAN4 to provide information on the following for the 1Tx operation in LTE-NR DC:

1) Is a UE capability for the need of 1Tx operation required (i.e. indication that UE is incapable of 2Tx operation under certain conditions)?

2) Does need of 1Tx operation apply to all UEs? For example, for a problematic band combination which is applicable for 1Tx operation, would the operation apply for all UEs or only certain UEs with certain implementations? 

3) If the UE capability signalling is needed, with what granularity it should be provided (e.g., per band or per band combination)?

4) Is any kind of additional information needed from UE for the network to be able to schedule UE under the 1Tx operation?
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